

## Republic of the Philippines WESTERN MINDANAO STATE UNIVERSITY

Normal Road, Baliwasan Zamboanga City www.wmsu.edu.ph Telephone: 062-991-1771 LOC 1003



### **INVITATION TO BID**

The Western Mindanao State University, through its Bids and Awards Committee (BAC), is inviting PhilGEPS registered suppliers to apply for eligibility and to submit bids for the item mentioned hereunder:

Name of Project: Procurement of Various Hardware Supplies for the Facility 2 of the

Research-Assessment of Biosafety and Biosecurity

Approved Budget Cost: PHP 130,509.70 Purchase Request No.: PR 25-10-426 Closing Date: November 5, 2025 9:30 AM

- 1.) Sixty-Five (65) bags of Cement. ABC: Php 15,600.00
- 2.) Thirty-Six (36) pcs of Def. Steel Bars, 12mm x 6m. ABC: Php 6,480.00
- 3.) Fifty-Five (55) pcs of Def. Steel Bars, 10mm x 6m. ABC: Php 7,425.00
- 4.) Four point Five Hundred Forty-Eight (4.548) cu.m. of Coarse Sand. ABC: Php 12,734.40
- 5.) Fve and Six Thousandths (5.006) cu.m. of 3/4" Gravel. ABC: Php 14,016.80
- 6.) Sixteen point Five (16.5) kgs. of G.I tie wire, #16 ABC: Php 1,402.50
- 7.) Three (3) cu.m. of Filling material. ABC: Php 4,500.00
- 8.) Point Eighty-Three (0.83) cu.m. of Screened sand. ABC: Php 2,905.00
- 9.) Three Hundred Sixty-Two (362) pcs of 4" Concrete Hollow Block. ABC: Php 5,792.00
- 10.) Twenty-One (21) bd.ft. of Coco lumber, 2" x 2" x 8' ABC: Php 525.00
- 11.) Twelve (12) pcs of Coco lumber, 2" x 4" x 12' (wood post). ABC: Php 2,040.00
- 12.) Four (4) pcs of Coco Lumber, 2" x 4" x 10' (rafter). ABC: Php 680.00
- 13.) Fifty-Six (56) pcs of Coco Lumber, 2" x 2" x 10' (studs & purlins). ABC: Php 4,760.00
- 14.) One (1) piece of Plywood, 10mm ABC: Php 480.00
- 15.) Thirteen (13) pcs of 4.5mm Ficem Board 4' x 8'. ABC: Php 5,603.00
- 16.) Two (2) kgs. of Ficem board nails, 1 1/2". ABC: Php 210.00
- 17.) One (1) kilo of 1 1/2" Common Wire Nail. ABC: Php 85.00
- 18.) Eight (8) kgs. of 3" Common Wire Nail . ABC: Php 680.00
- 19.) Four (4) sets of .60 x 2.10m PVC door set with jamb. ABC: Php 7,200.00
- 20.) One (1) set of .60 x 1.7m Flush type door. ABC: Php 3,500.00
- 21.) Five (5) sets of Door knob .stainless steel or brass-plated steel .corrosion-resistant, .suitable for PVC door; 3 keys .strike plate .mounting screws

# Republic of the Philippines WESTERN MINDANAO STATE UNIVERSITY

Normal Road, Baliwasan Zamboanga City www.wmsu.edu.ph Telephone: 062-991-1771 LOC 1003

installation guide. ABC: Php 2,750.00

- 22.) One (1) set of 3 x 3 SS bearing door type door hinge. ABC: Php 250.00
- 23.) Two (2) sets of .60x.60m jalousie type window ABC: Php 1,600.00
- 24.) Two (2) length of 4" Ø PVC pipe s1000. ABC: Php 2,040.00
- 25.) One (1) piece of 4" Ø PVC wye. ABC: Php 110.00
- 26.) Two (2) pcs of 4" x2" Ø PVC wye reducer ABC: Php 220.00
- 27.) Four (4) pcs of 4" Ø PVC tee. ABC: Php 340.00
- 28.) One (1) piece of 4" Ø PVC elbow ABC: Php 85.00
- 29.) Two (2) pcs of 4" Ø PVC P-trap. ABC: Php 170.00
- 30.) Two (2) pcs of 4" Ø PVC clean-out ABC: Php 220.00
- 31.) Two (2) length of 2" Ø PVC pipe s1000. ABC: Php 916.00
- 32.) Seven (7) pcs of 2" Ø PVC wye. ABC: Php 595.00
- 33.) Twelve (12) pcs of 2" Ø x 45 deg. PVC elbow ABC: Php 1,020.00
- 34.) Two (2) liters of Solvent Cement for PVC Pipes. ABC: Php 560.00
- 35.) Two (2) length of 1/2" Ø PPR pipe Pn20 .ABC: Php 570.00
- 36.) Six (6) pcs of 1/2" Ø PPR plain tee. ABC: Php 120.00
- 37.) Twenty (20) pcs of 1/2" Ø PPR plain elbow ABC: Php 360.00
- 38.) Eight (8) pcs of 1/2" Ø PPR female elbow ABC: Php 880.00
- 39.) Three (3) pcs of 1/2" Ø PPR Gate Valve ABC: Php 750.00
- 40.) One (1) piece of 1/2" Ø PPR Check Valve ABC: Php 350.00
- 41.) One (1) unit of 1/2" Water meter. ABC: Php 800.00
- 42.) Two (2) pcs of 1/2" Water meter tail piece. ABC: Php 500.00
- 43.) Three (3) rolls of 3/4" Teflon tape ABC: Php 45.00
- 44.) Seven (70 pcs of 1/2" Ø SS Wall mounted faucet. ABC: Php 2,450.00
- 45.) One (1) piece of 1/2" Shower head ABC: Php 1,000.00
- 46.) One (1) piece of 4 Branches Panel board ABC: Php 800.00
- 47.) One (1) piece of Circuit breaker 20amps. ABC: Php 250.00
- 48.) One (1) piece of Circuit Breaker 15amps. ABC: Php 250.00
- 49.) Two (2) pcs of 40watts led T8 glass tube with case ABC: Php 1,320.00
- 50.) One (1) piece of 9 watts Pin light. ABC: Php 350.00



## Republic of the Philippines WESTERN MINDANAO STATE UNIVERSITY

CERTIFICATION ABOUT THE BOOKS OF THE BOOKS O

Normal Road, Baliwasan Zamboanga City www.wmsu.edu.ph Telephone: 062-991-1771 LOC 1003

51.) Fifteen (15) mtrs. of 10/7 Thhn wire ABC: Php 300.00

52.) Fifty (50) mtrs. of 12/7 Thhn wire ABC: Php 900.00

53.) Fifty (50) mtrs. of 14/7 Thhn wire. ABC: Php 900.00

54.) Three (3) pcs of 1 Gang Switch ABC: Php 660.00

55.) One (1) roll of 1/2" Flexible Hose. ABC: Php 900.00

56.) Five (5) rolls of Electrical tape. ABC: Php 175.00

57.) Nineteen (19) pcs of 0.33mm x 8' G.I. Corrugated roof ABC: Php 5,890.00

58.) One (1) roll of 5mm Double sided insulator ABC: Php 2,400.00

59.) One (1) kilo of 2 1/2" umbrella nail ABC: Php 95.00

DELIVERY: WMSU MAIN CAMPUS, ZAMBOANGA CITY.

The criteria to be used for the eligibility check of the prospective bidders, examination and evaluation of bids, post-qualification and all matters relevant to this procurement shall be in accordance with Republic Act. No. 9184 (The Government Procurement Reform Act) and its Implementing Rules and Regulations.

Pursuant to Annex "H" documentary requirements interested bidders are required to submit their valid and current Mayor's Permit, PhilGEPS Registration and other relevant documents (if necessary), upon the submission of quotation.

Award of contract shall be made to the lowest calculated and responsive bid, which complies with the necessary description as stated above and other terms and conditions stated in the price quotation form.

Any interlineations, erasures or overwriting shall be valid only if they are signed or initiated by the bidder or his/her duly authorized representative/s.

Submission of Quotation and eligibility documents is on or before November 5, 2025 9:30 AM at the BAC Office, 2nd Floor, Admin Building, Western Mindanao State University, Normal Road, Baliwasan, Zamboanga City. Open submission may be submitted manually, email (bac@wmsu.edu.ph) or through facsimile at (062) 991-1771 loc 1003

For inquiries, you may coordinate with the BAC Secretariat at telephone no. (062) 991-1771 loc 1003

The WESTERN MINDANAO STATE UNIVERSITY reserves the right to reject any or all Bids and to accept the bid most advantageous to the government, and to award the contract by lot, if warranted.

				Quota	tion No.:	
PR No.: 25						<u> </u>
	Please	quote yo	ur lowest price on the item/s listed below, subject to the Gene			
ortes t <u>9:30</u>	t time of A.M. in	delivery a	and submit your quotation duly signed by your representative n envelope attached herewith. Any quotation submitted beyon	HOLIGIEI HIGH	e considered.	
OTE:	1		RIES MUST BE TYPEWRITTEN	V	MADROÑA erson for GOO	
		WARRAI DATE OF PRICE V G-EPS R	RY PERIOD CALENDAR DAYS UPON RECEIPT OF THE PURCH/ NTY SHALL BE FOR A PERIOD OF SIX (6) MONTHS FOR SUPPLIES AND N F ACCEPTANCE BY WESTERN MINDANAO STATE UNIVERSITY ALIDITY SHALL BE FOR A PERIOD OF 120 CALENDAR DAYS UPON RECI EGISTRATION CERTIFICATE SHALL BE ATTACHED UPON SUBMISSION OF S SHALL SUBMIT ORIGINAL BROCHURES SHOWING CERTIFICATIONS OF	IATERIALS. ONE (1) YEA EIPT OF THE PURCHASE OF THE QUOTATION	ORDER	ENT, FROM
Item No.	Qty	Unit	Item and Description	Approved Budget for the Contract (ABC)	Unit Cost	Total Cos
1.	65	bags	Cement. 240.00/bags.	P15,600.00		
2.	36	pcs	Def. Steel Bars, 12mm x 6m. 180.00/pcs.	P 6,480.00	3	
3.	55	pcs	Def. Steel Bars, 10mm x 6m. 135.00/pcs.	P 7,425.00		
4.	4.548	cu.m.	Coarse Sand. 2,800.00/cu.m.	P 12,734.40		
5.	5.006	cu.m.	3/4" Gravel. 2,800.00/cu.m.	P 14,016.80		
õ.	16.5	kgs.	G.I tie wire, #16 . 85.00/kgs.	P 1,402.50		
7.	3	cu.m.	Filling material. 1,500.00/cu.m.	P 4,500.00		
3.	0.83	cu.m.	Screened sand. 3,500.00/cu.m.	P 2,905.00		
Э.	362	pcs	4" Concrete Hollow Block. 16.00/pcs.	P 5,792.00	3	
10.	21	bd.ft.	Coco lumber, 2" x 2" x 8' . 25.00/bd.ft.	P 525.00		
11.	12	pcs	Coco lumber, 2" x 4" x 12' (wood post). 170.00/pcs.	P 2,040.00		
12.	4	pcs	Coco Lumber, 2" x 4" x 10' (rafter). 170.00/pcs.	P 680.00		
13.	56	pcs	Coco Lumber, 2" x 2" x 10' (studs & purlins). 85.00/pcs.	P 4,760.00		
14.	1	piece	Plywood, 10mm. 480.00/piece.	P 480.00		
15.	13	pcs	4.5mm Ficem Board 4' x 8'. 431.00/pcs.	P 5,603.00		
DC D-			. 10	f 4	Madal	
EPS Reference Number : Brand & Delivery EPS Solicitation Number : Warrant					Period :	
				Price Va		
25 CIO	sing Date After ha		ully read and accepted your General Conditions, the foregoing are ou	r price quotation for the	e items above ir	dicated.
			PhilGEPS	Certificate No.:		
				e Reference No.:		
			boxed of			
	REY ES	PIRITUS/	ANTO / DANNI VINCENT VILLAREAL Canvasser	Printed	Name/Signature	e
			Odifyddddi	Tel .No./Cellphone	e #	

WMSU-BAC-FR-007 Effectivity Date: 31 Oct. 2016

					ation No.
					ation No.:
					o.: <u>25-10-426</u>
ortest 9:30	time of	delivery a	ur lowest price on the item/s listed below, subject to the G and submit your quotation duly signed by your representat n envelope attached herewith. Any quotation submitted be	ive not later than	OV 0 5/2125
OTE:	1 2 3 4 5	DELIVER WARRAN DATE OF PRICE V. G-EPS R	RIES MUST BE TYPEWRITTEN  RY PERIOD CALENDAR DAYS UPON RECEIPT OF THE PURITY SHALL BE FOR A PERIOD OF SIX (6) MONTHS FOR SUPPLIES AND FACCEPTANCE BY WESTERN MINDANAO STATE UNIVERSITY ALIDITY SHALL BE FOR A PERIOD OF 120 CALENDAR DAYS UPON FEGISTRATION CERTIFICATE SHALL BE ATTACHED UPON SUBMISSI	BAC Chairs CHASE ORDER. ND MATERIALS. ONE (1) YE RECEIPT OF THE PURCHAS ON OF THE QUOTATION	SE ORDER
.6.	2	kgs.	s shall submit original brochures showing certification Ficem board nails, 1 1/2". 105.00/kgs.	P 210.00	
L7.	1	kilo	1 1/2" Common Wire Nail. 85.00/kilo.	P 85.00	
18.	8	kgs.	3" Common Wire Nail . 85.00/kgs.	P 680.00	
19.	4	sets	.60 x 2.10m PVC door set with jamb. 1,800.00/sets	P 7,200.00	3
20.	1	set	.60 x 1.7m Flush type door. 3,500.00/set.	P 3,500.00	
21.	5	sets	Door knob .stainless steel or brass-plated steel .corrosion-resistant, .suitable for PVC door; 3 keys .strike plate .mounting screws .installation guide. 550.00/sets.	P 2,750.00	
22.	1	set	3 x 3 SS bearing door type door hinge. 250.00/set.	P 250.00	
23.	2	sets	.60x.60m jalousie type window . 800.00/sets.	P 1,600.00	
24.	2	length	4" Ø PVC pipe s1000. 1,020.00/length.	P 2,040.00	
25.	1	piece	4" Ø PVC wye. 110.00/piece.	P 110.00	
26.	2	pcs	4" x2" Ø PVC wye reducer . 110.00/pcs.	P 220.00	
27.	4	pcs	4" Ø PVC tee. 85.00/pcs.	P 340.00	
28.	1	piece	4" Ø PVC elbow . 85.00/piece.	P 85.00	
29.	2	pcs	4" Ø PVC P-trap. 85.00/pcs.	P 170.00	
PS Soli	erence Nu citation N sing Date After har	umber	:	Deliver Warrar Price V	/alidity :
				EPS Certificate No.:	
REY ESPIRITUSANTO / DANNI VINCENT VILLAREAL Canvasser					d Name/Signature

. 7	* *	•	REQUEST FOR QU Western Mindanao State			
				Quota	ation No.:	
-				· PR No	o.: <u>25-10-42</u> 6	
	Please	quote yo	ur lowest price on the item/s listed below, subject to	아는 그렇게 되는 사람이 없는데 사람이 아름이 가면 되는 것이 없는데 하게 되었다면 나를 하게 되는데 그렇게 되었다.	A STATE OF THE STA	the
shortes at <u>9:30</u>	t time of A.M. in	delivery a the returr	and submit your quotation duly signed by your repre n envelope attached herewith. Any quotation submit	To de l'idea l'idea l'idea d'idea d'idea l'idea	be ensidered.	
NOTE:	1		RIES MUST BE TYPEWRITTEN	BAC Chair	. MA. ROÑAL pers in for GOO	, DPA DS
	2 3 4 5 6	WARRAN DATE OF PRICE V G-EPS R	CALENDAR DAYS UPON RECEIPT OF T NTY SHALL BE FOR A PERIOD OF SIX (6) MONTHS FOR SUPF F ACCEPTANCE BY WESTERN MINDANAO STATE UNIVERSIT ALIDITY SHALL BE FOR A PERIOD OF 120 CALENDAR DAYS SEGISTRATION CERTIFICATE SHALL BE ATTACHED UPON SU S SHALL SUBMIT ORIGINAL BROCHURES SHOWING CERTIFI	PLIES AND MATERIALS. ONE (1) YE IY UPON RECEIPT OF THE PURCHAS JBMISSION OF THE QUOTATION	SE ORDER	NT, FROM
30.	2	pcs	4" Ø PVC clean-out . 110.00/pcs.	P 220.00	)	
31.	2	length	2" Ø PVC pipe s1000. 458.00/length.	P 916.00		
32.	7	pcs	2" Ø PVC wye. 85.00/pcs.	P 595.00		
33.	12	pcs	2" Ø x 45 deg. PVC elbow . 85.00/pcs.	P 1,020.00	)	
34.	2	liters	Solvent Cement for PVC Pipes. 280.00/liters.	P 560.00		
35.	2	length	1/2" Ø PPR pipe Pn20 . 285.00/length.	P 570.00		
36.	6	pcs	1/2" Ø PPR plain tee. 20.00/pcs.	P120.00	7	
37.	20	pcs	1/2" Ø PPR plain elbow . 18.00/pcs.	P 360.00	)	
38.	8	pcs	1/2" Ø PPR female elbow . 110.00/pc	s. <b>P 880.0</b> 0	)	
39.	3	pcs	1/2" Ø PPR Gate Valve . 250.00/pcs.	P 750.00	7	
40.	1	piece	1/2" Ø PPR Check Valve . 350.00/piece.	P 350.00		
41.	1	unit	1/2" Water meter. 800.00/unit.	P 800.00	7	
42.	2	pcs	1/2" Water meter tail piece. 250.00/pcs.	P 500.00	)	
43.	3	rolls	3/4" Teflon tape . 15.00/rolls.	P 45.00	2	
44.	7	pcs	1/2" Ø SS Wall mounted faucet. 350.00/pcs.	P 2,450.00	9	
45.	1	piece	1/2" Shower head . 1,000.00/piece.	P 1,000.00	2	
46.	1	piece	4 Branches Panel board . 800.00/piece.	P 800.00	9	
EPS Re	ference N	umber			& Model :	
EPS So	licitation N	nty : Validity :				
EPS Clo	osing Date		:			diantad
	After ha	iving caref	ully read and accepted your General Conditions, the foreg		ne items above in	dicated.
				PhilGEPS Certificate No.: Certificate Reference No.	:	
			POLITED POLY.			
	REY ES	PIRITUS	ANTO / DANNI VINCENT VILLAREAL	Printe	d Name/Signature	
			Canvásser	Tel .No./Cellpho	ne#	
Um					Date	

			REQUEST FOR QU Western Mindanao State				
					Quotat	ion No.:	
					PR No.	25-10-426	
	Please	quote yo	ur lowest price on the item/s listed below, subject	to the Gen			
shortes at <u>9:30</u>	t time of A.M. in	delivery a the returr	and submit your quotation duly signed by your rep n envelope attached herewith. Any quotation subr	resentative nitted beyor	not later than	OV 9/5 2#2 ensidered.	
NOTE:	1 2 3 4 5 6	DELIVER WARRAN DATE OF PRICE V G-EPS R	RIES MUST BE TYPEWRITTEN  Y PERIOD CALENDAR DAYS UPON RECEIPT OF  NTY SHALL BE FOR A PERIOD OF SIX (6) MONTHS FOR SU  F ACCEPTANCE BY WESTERN MINDANAO STATE UNIVERSALIDITY SHALL BE FOR A PERIOD OF 120 CALENDAR DAY  EGISTRATION CERTIFICATE SHALL BE ATTACHED UPON  S SHALL SUBMIT ORIGINAL BROCHURES SHOWING CERT	PPLIES AND N SITY YS UPON REC SUBMISSION	ASE ORDER. MATERIALS. ONE (1) YEAR EIPT OF THE PURCHASE OF THE QUOTATION	rs on for GOO R FOR EQUIPME ORDER	bs
47.	1	piece	Circuit breaker 20amps. 250.00/piece.		P 250.00		
48.	1	piece	Circuit Breaker 15amps. 250.00/piece.		P250.00		
49.	2	pcs	40watts led T8 glass tube with case . 660	0.00/pcs.	P 1,320.00		
50.	1	piece	9 watts Pin light. 350.00/piece.		P350.00		
51.	15	mtrs.	10/7 Thhn wire . 20.00/mtrs.		P 300.00		
52.	50	mtrs.	12/7 Thhn wire . 18.00/mtrs.		P 900.00		
53.	50	mtrs.	14/7 Thhn wire. 18.00/mtrs.		P 900.00		
54.	3	pcs	1 Gang Switch . 220.00/pcs.		P 660.00		
55.	1	roll	1/2" Flexible Hose. 900.00/roll.		P 900.00		
56.	5	rolls	Electrical tape. 35.00/rolls.		P 175.00		
57.	19	pcs	0.33mm x 8' G.I. Corrugated roof . 310.0	00/pcs.	P 5,890.00		
58.	1	roll	5mm Double sided insulator . 2,400.00	/roll.	P 2,400.00		
59.	1	kilo	2 1/2" umbrella nail 95.00/kilo.		P 95.00		
			DELIVERY: WMSU MAIN CAMPUS, ZAME CITY.	BOANGA			
			Note: For the Research Assessment of Biosafety Biosecurity Practices of the University	and			
EPS Re	ference N	umber	FACILITY 2	1	Frand & Delivery		
EPS So	licitation N	lumber	<u> </u>	-+ (	Delivery Warrant Price Va	y :	
EPS Clo	sing Date		<u> </u>				
	After ha	ving caref	ully read and accepted your General Conditions, the for	regoing are o	ur price quotation for the	items above in	dicated.
					Certificate No.: _ te Reference No.:		
	REY ES	BPIRITUS/	ANTO / DANNI VINCENT VILLAREAL Canvasser		Printed I	Name/Signature ∌#	
						Date	